
ORBIS    RAIL MOUNTING CLAMP INSTALLATION INSTRUCTIONS
 Ensure that all relevant personnel read the points listed below and that a copy is passed on to staff involved 

with the installation. Please also refer to the ‘Manual Handling Operations Regulations 1992’ during the handling of the 
product and materials used for installation.  

TM

           AND ORBIS ARE TRADEMARKS OF GLASDON GROUP AND ITS SUBSIDIARIES IN   
          THE U.K. AND OTHER COUNTRIES.

Replacement components are available direct from GLASDON.

GLASDON cannot be held responsible for claims arising from incorrect installation, unauthorised modifications or misuse of 
the product.

Issue 1 July 2011 C000/0395
© Copyright 2010
Glasdon U.K. Ltd reserves the right to alter specifications without prior notice.

Glasdon U.K. Limited
Preston New Road
BLACKPOOL
Lancashire FY4 4UL
Tel: 01253 600410
Fax: 01253 792558
E-mail: sales@glasdon-uk.co.uk
Web: www.glasdon.com

1. First, place one clamp plate (Item 1) on the side of the railing you want to place the Orbis. Then slot 
 the M8 x 80mm screw (Item 3) through the four inner most holes of it, through the railings. 
 Next, position the other clamp plate and slot 4 M8 x 35mm screws (Item 2) through the outer holes 
 of both clamp plates (Item 1), (See Fig A.) When all the screws and plates are lined up tighten the outer
  screws using 4 M8 x 20mm washers (Item 4), 4
 M8 Nyloc Nuts (Item 5) , a 5mm Allen Key and a 
 13mm Ring Spanner, until tight. (Fig B).

Please Note: we have provided 8 M8 x 80mm screws as these may
be required if �xing to a wider rail instead of the M8 x 35mm screws.

2. Next, line up the 4 holes on the back of the  Orbis body with 
 the 4 screws left unfastened. Slot the Orbis onto these screws 
 (Fig C) and tighten the screws using 4 M8 x 20 washers, 4 M8 
 Nyloc Nuts (Item 5), a 5mm Allen Key and a 13mm ring spanner. 
 (See Figs D + E ).

KIT CONTENTS:
ITEM 1        Clamp plate    x2
ITEM 2        M8 x 35mm screw    x4
ITEM 3        M8 x 80mm screw    x8
ITEM 4        M8 x 20mm washer   x16
ITEM 5        M8 Nyloc Nut    x8
TOOLS REQUIRED:
5mm Allen Key
13mm Ring Spanner

Item 1

Item 2

Item 3

Item 4

Item 5

Fig. A

Item 1

Item 1

Item 2

Item 3

Fig. B

Fig. C

Fig. D
Fig. E


